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71 oo B4
- Q3ld 128 C
- 719128 C) : 28.33 mmHg(3.78 kPa)
- F3H] 50 %
}) 50 volume % o €F2 489 o] <2l3}Hd
- Raoult®] WS o]§ste] Qste] a4H= = detse 23}
Z719HP*E e,
Psat D _ 2833mqu _ 5666mmHg
T 0.5
T oe29 A3H128 TlolAe F71
DoErE ] BERE S e HIH]
P¥(56.66 mmHg)ol 3DetE 52 Fal7] 93] ofdl Z7)eH
(Eq(1))& o] g3te] HtEAASHA 50 % ol g2 842 23t
o 242 Co|t}.
(3) F=d o Astde HFEAAS T 4SS & Uk
<¥> TEE o 3
A SO (vol, %) Q=79 215tE(C)
i ol Ets = (mmHg) HE2= Zot MSDS
1 100.0 0.0 28.33 12.80 12.8
2 9%.0 40 2951 1345 17.0
3 9.0 10.0 31.48 14.47
4 5.0 150 33.33 1539
5 330 17.0 34.13 15.78
6 80.0 20.0 35.41 1637 20.0
7 755 245 3752 17.31
8 75.0 2.0 3777 17.42
9 70.0 30.0 40.47 1856 21.0
10 65.0 3.0 4359 19.79
11 62.0 33.0 45.69 2058
12 60.0 40.0 4722 21.13 22.0
13 56.0 440 50.59 22.29
14 5.0 45.0 5151 22.60
15 50.0 50.0 56.66 24.24 240
16 450 5.0 62.96 26.07




17 40.0 60.0 70.83 28.14 26.0
18 35.0 65.0 80.94 30.54
19 30.0 70.0 .44 33.35 29.0
20 25.0 75.0 113.32 36.77
21 20.0 80.0 141.65 41.06 36.0
22 19.5 80.5 145.29 41.56
23 150 86.0 188.87 46.81
24 10.0 90.0 283.31 55.33 49.0
25 5.0 9.0 566.61 71.18 62.0




